
[9.6~9.7절]

9.32&34   = (5 cm)(6 cm) = 30 cm2 

   = (4 cm)(2 cm) = 8 cm2 

   = (4 cm)(1 cm) = 4 cm2 

  =   -   - 

   = 30 – 8 – 4 cm2 = 18 cm2 

  = 


(5 cm)(6 cm)3 = 90 cm4 

  =    +  
  

    = 


(4 cm)(2 cm)3 + (8 cm2) (2 cm)2 

    = (


 + 32) cm4 = 


 cm4 

  =    +  
  = 


(4 cm)(1 cm)3 + (4 cm2)(


 cm)2 

   = 


 + 9 cm4 = 


 cm4 

  =   -   -  

   = 90 - 


 - 


 cm4 = 46.0 cm4 

  ⇒   = 46.0 cm4 (= 46.0×104 mm4 )

  = 





 = 



 cm

 cm

 = 1.599 cm   ⇒   = 1.599 cm (= 15.99 mm )

 = 


(6 cm)(5 cm)3 = 


 cm4 

 = 


(2 cm)(4 cm)3 = 


 cm4 

 = 


(1 mm)(4 cm)3 = 


 cm4 

  =   -   -  

   = 


 - 


 - 


 cm4 = 46.5 cm4 

  ⇒   = 46.5 cm4 (= 46.5×104 mm4 )

  = 





 = 



 cm

 cm

 = 1.607 cm   ⇒   = 1.607 cm (= 16.07 mm )

②

①

③



9.48 ① 반타원,      ② 반원

    (a)    = 

    


 

      = 

     

      = 

 (54 mm)(36 mm)[(54 mm)2 + (36 mm)2]

      = 3.215×106 mm4 

   = 

 

      = 

 (18 mm)4 = 0.0824×106 mm4 

  =    -  

    = (3.215×106 mm4) - (0.0824×106 mm4) = 3.1326×106 mm4

⇒   = 3.13×106 mm4

   (b) 축 대칭  ⇒    = 0

  = 

 = 


 (54 mm)(36 mm) = 3,053 mm2 

  = 


 = 


(36 mm) = 15.279 mm

  = -

  = -


 (18 mm)2 = -508.9 mm2 

  = 


 = 


(18 mm) = 7.639 mm

 Σ  = 3,053 + (-508.9) mm2 = 2,544 mm2 

 Σ( ) = (15.279)(3,053) + (7.639)(-508.9) mm3 = 42,759 mm3 

   = 


 = 
 mm

 mm

 = 16.807 mm

  =   -  

 

= (3.13×106 mm4) - (2,544 mm2) (16.807 mm)2 = 2.411×106 mm4

⇒   = 2.41×106 mm4


